Hi all, i chose to comment the following boards. 

	Board #
	3
	6
	8
	9
	13

	Avengers
	
	
	
	13 imps
	

	Al & Friends
	6 imps
	11 imps
	11 imps
	
	14 imps


Comments in black created by Yvon

Answers by Al
Board#3: Bidding made the difference in this hand. After a weak 1 diamond opener, Al jumped to 3 clubs with his rebid, and opps let us play in 3 diamonds. The jump made it much more difficult for opps to confirm their spades fit. In the other room, Tomek and Jacek found their nice spade fit and made 3 spades. Al, I would appreciate some comments on why you jumped rather than simply rebidding your clubs at the 2nd level...

I was confused by the xx and thought about pass or bidding my clubs. I decided to bid at the "lowest" possible level. LOL Another manifestation of the c-nile-virus. Lucky win of 6 IMPs
Board#6: Tomek bid and made a 7NT contract. Well done! I am not sure I would have had the nerve to bid 7NT. Tomek had a huge 21 HCPs hand and after Jacek opened the bidding he could count 21+13= 34 HCPs. So a grand was close. However his hand was flat.. this would have worried me. Following the lead, there were 12 sure tricks. Tomek needed to find the spade queen and he did. I would like to know what prompted Tomek to play East for the queen. I was also surprised he did not play on hearts to learn more about distribution before taking his decision. 

Congrats again Tomek!

You are right, Yvon, cashing the hearts and finding out that they were 6-1 distributed and that LHO led a singleton against 7NT would make the chance greater that LHO held spade Q.
BTW.: hearts and clubs should be played before diamonds reaching this end-position:
North: (A107 (6; South (KJ4 (10 
Now you have postponed the decision, what to discard on the last ( and you put some pressure on opponents not to discard all the (s. Maybe this will extract some more information about the hand.
But finally it is a guess and Tomek did very well. Congratulations.
Board#8: We were lucky to win 11 imps. I believe there was a confusion in the bidding. In response to the 2 clubs strong opening, the responder bid 2 spades with only 1 spade card and they ended up in 6 spades. I believe the responder was playing 'Steps', showing 7-9 HCPS with his 2 spades bid which was totally artificial. 

Btw: The 2( opening is a terrible choice. I admit that the hand has LTC 3, BUT LTC is only on AFTER you confirmed a fit. The hand is not balanced 23+ and the hand has not 8.5 playing tricks.

Board#9: Our only bad result  (-11 imps) of the day happened on the play of the trump suit. North was in a difficult situation when the declarer lead a 2nd trump trick. With Jx, North decided to cash his Jack, overtaking declarer's 9, with the spade Ace still to be played. Probably North feared that the declarer was trying to fool him by under leading his Ace.... Correct play is to duck, but I do understand how difficult that was for North. 

Well said, Yvon. 
In the post mortem analysis it is 100% clear, that declarer cannot hold trump A. Partner's 10 was very suspicious. It must be singleton or from A10. And declarer had no reason to assume that partner has not J and 10. Another argument: You need 2 more tricks to defend the contract. What is declarers distribution? If you assume partners (10 as singleton declarer started with AQ98xx,Qxx,Axx,x (he must have 3 diamonds or would have taken the lead in his hand). So your only chance to defend the contract is to credit partner with (A.
BUT in the heat of a match: I don't know if I had made the correct defense
Board#13: We won 11 imps on the play of the clubs when Al decided to play for the drop while the opp played the finesse. I believe the reason Al played the drop was that he believed that North would give a correct count signal to his partner... since North used the Hi-Lo, Al knew that South had 2 cards. Am I right Al? But North could have had Q83 and be false carding...

Nope it makes no sense to trust opponent's signals in such a situation

Principle of restricted choice tells to finesse on the second round. 

BUT

1) He played the Q not the J. Most guys try to be "clever" and play the Q in this situation. If he had played the J I had finessed probably.

2) I was reluctant to use (A as entry and open another suit for opponents.

3) I had the "feeling", that they would manage to block the ( if (s were 3-1

It was a stomach-decision and I was lucky.

